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Bl TREDBBOEILHOKRES TREDHBEILEADKRES TRENBHOESLNDKRES TREOHBESSLADKRES
= Ba | Nmh o0 IoEE TR [ & =3 TR = TR B =
H5 X 4 .(—I.né; T (':q)d)ﬁﬁ j:l(:iff)é X 4 ﬁmﬁﬁﬁﬁfk; Z]né)( ﬁ(%cf)é X 4 ,(—I,né; J:irmﬁ(z)d)tl:.—, j:u(:i&tf)é X 4 J:irmﬁ(z)d)tl:.—: .as j:l(:iff)é
1 100kN/mM%E 82 % -l -~ = —-|3mZEBZB - ~ = = —-| 100kN/ Mm% 2% = -~ = b Rlk b =g - - =
ZhnLst 1.00{0.00 ~ 3.33 49.34| =n st 000 ~ 333| 2.01 8.84 st 1.00f 500 ~ 5.01 4934 #h st | 500 ~ 501| 201 8.84
2 100kN/mM% 82 % -l -~ = -IBmEH#ZE - ~ = = —-| 100kN/ Mm% 2% - -~ - —|3mEEZD ol ~ - - =
Zh st 1.00[0.00 ~ 446 65.40| =5 |0.00 ~ 000 157 6.92 ZhLlst 1.00] 500 ~ 7.99 65.40| st | 500 ~ 7.99] 157 6.92
3 100kN/mM%E 82 % -l -~ = —-|3mZEBZE - ~ = = —-| 100kN/ Mm% 2% = -~ = b Rlk b =g - - =
ZhnLst 1.00{0.00 ~ 495 72.61| £ Ldst 1000 ~ 0.00] 1.70 7.47 st 1.00f 500 ~ 791 7261 Zh st | 500 ~ 791] 1.70 747
4 100kN/mM% 82 % -l -~ = -IBmEH#ZB - ~ = = —-| 100kN/ Mm% 2% - -~ - —|3mEEZ D ol ~ - - =
ZTh st 1.00/ 000 ~ 6.61 98.70| M4t |0.00 ~ 661 207 9.12 ZhLlst 1.00] 5.00 ~ 13.79 98.70| st | 500 ~ 13.79] 2.07 9.12
5 100kN/mM%E 82 % 1.00{0.00 ~ 1.05 117.83|3m% R3] - ~ = = —| 100kN/ Mm% 2% 1.00{ 1473 ~ 23.98 117.83|3m% {82 3| ad ~ - - =
FhnLst 1.00{1.05 ~ 7.73 100.00| x4t |0.00 ~ 7.73| 2.54 11.17 Fn st 1.00f 500 ~ 14.73 100.00| ZnLl4t | 5.00 ~ 2398| 2.54 11.17
. 100kN/m#E#B%5%| 1.00(000 ~ 150 125.82|3m&xBZ25[ - ~ = = —-|100kN/mi%E#B%5%| 1.00[1326 ~ 24.16 125.82|3m%#B% % ol ~ - - 5
ZTh st 1.00[1.50 ~ 818 100.00| £+ List | 000 ~ 8.18| 2.64 11.64 zhLlst 1.00] 500 ~ 13.26 100.00| £hList | 500 ~ 24.16| 2.64 11.64
2 100kN/mM%E 82 % 1.00{0.00 ~ 1.82 131.67|3m% 4R35 - ~ = = —-| 100kN/ Mm% 2% 1.00{ 12.63 ~ 24.27 131.67|3m% {82 3| ad ~ - - =
zhnLst 1.00{1.82 ~ 850 100.00| x4t |0.00 ~ 850 2.78 12.23 Fn st 1.00f 500 ~ 12.63 100.00] ZnLlA4t | 5.00 ~ 24.27| 2.78 12.23
q 100kN/m#E8%5%| 1.00[000 ~ 166 128.80|3mzx A3 - ~ = = —-[100kN/mi#E#B%5%| 1.00[12.84 ~ 24.00 128.80|3m%#B% % ol ~ - - 5
Zh st 1.00[1.66 ~ 835 100.00| £+ List [ 000 ~ 8.35| 2.71 11.91 ZhLlst 1.00] 500 ~ 1284 100.00| £hList | 500 ~ 24.00| 2.71 11.91
9 100kN/mM%E#BZ 5 1.00{0.00 ~ 1.62 127.94|3m% R 3| - ~ - = -] 100kN/m#%#BZ % 1.00(12.94 ~ 24.00 127.94|3m%E#BZ% = Bad - - =
ZhnLst 1.00{1.62 ~ 830 100.00| x4t |0.00 ~ 8.30f 2.69 11.83 Fn st 1.00f 500 ~ 1294 100.00] ZxLld4t | 5.00 ~ 24.00| 2.69 11.83
100kN/mM% 82 % ~ 3mEHEZ D ~ 100kN/mM%E B2 % ~ 3mEHEZ B ~
Zzh s ~ ZTh st ~ Zh s ~ ZTh s ~
100kN/mM%E 82 % ~ ImERER D ~ 100kN/mM%E 82 % ~ ImERER D) ~
Zh LS ~ Zh LS ~ Zh LS ~ Zh LS ~
100kN/mM% 82 % ~ 3mEHEZ B ~ 100kN/mM%E B2 % ~ 3mEHEZ B ~
Th st ~ ZTh st ~ ZTh s ~ ZTh s ~
100kN/mM%E 82 % ~ ImERER D) ~ 100kN/mM%E {82 % ~ ImERER D) ~
Zh LS ~ Zh LS ~ Zh LS ~ Zh LSt ~
100kN/mM% 82 % ~ 3mEHEZ B ~ 100kN/mM%E B2 % ~ 3mEHEZ B ~
Th st ~ Zzh st ~ Th st ~ ZTh st ~
100kN/mM%E 82 % ~ ImERER D ~ 100kN/mM%E 82 % ~ ImERER D ~
Zh LS ~ Zh LSt ~ Zh LS ~ Zh LS ~
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